Bridgeport Math – Writing Equations in Slope Intercept Form  -  Quiz
Name ____________________________________

1.    m = 4              (-6, 2)

2.    (-4,0)                   (-3,7)

3.    y intercept = -2                 (1,9)

4.    (-3,7)                 m = -3
5.    m = -2         y intercept = -4
6.     (4,4)          (0,0)

7.   m  = 6             (-3,-4)

8.    x intercept = 2   slope = 4
9.      (5,5)    m  = 3/4
10.   y intercept = 5   slope = 2
11.  slope = -4   (0,7)

12.  (1,3)   y intercept = 5
13.  x intercept = 4    y intercept = 3    

